HW- Quadratics and Polynomials
Write the equation of the parabola with the following characteristics.
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Determine whether the following functions are polynomial functions.  If they are, state the degree and determine the end behavior.
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Answers:
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11) polynomial, degree 3, end behavior 
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12) polynomial, degree 2, end behavior 
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13) not a polynomial
14) not a polynomial
15) polynomial, degree 4, end behavior 
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16) polynomial, degree 4, end behavior 
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17) polynomial, degree 4, end behavior 
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18) polynomial, degree 3, end behavior 
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19) polynomial, degree 5, end behavior 
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20) polynomial, degree 4, end behavior 
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